Integral - 6.5 - Work & Review for Final Exam

5.7 #55,57,59 separation of variables
6.5 #9,11,39.40 work

Final Exam: Tues, 16 Feb, 9-11am
Can replace your 2nd lowest test grade!
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6.5 - Work

If an object is moved a distance D in the direction of an applied constant
force F, then the work W done by the force is cFi:efined as W=FD.

A
If an object is moved along a straight line by a contmuou’sﬂy varying force
F(x), then the work W done by the force as the object is moved from x=a
to x=b is

W=J-bF(x)dx
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